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1/40
IERFPZERAAR KT EEM SIAMERIS 2 ERINME?

Which organization is unlikely to get the full value from SIAM?

A) HRBFIINBIRSS TR IREIRSSAIER

One with a mix of internal and external service providers
B) REIR—RSIRMHARRMHIRSHIER

One with a single service provider only
C) HRSIMEPIRSSIRAtEIRAARSSHUZER

One with external service providers only

D) HRERIRSIEHAERARSHIAR

One with internal service providers only

2/40
SIAMEHB NI AR E T SRS ERREX—IKaIEZR?

Which driver group in SIAM includes a driver of data and information standards?

A) SMERIXENAD
External drivers
B) =EXEIKAIH
Operational efficiencies
C) RESXRWINEIENH
Service and sourcing landscape

D) IRSZSHEENES

Service satisfaction

3/40
IRSBEMSERE (SIAM) EERFTRSRUBIFERMTA?

What is a responsibility of a service provider in a SIAM ecosystem?

A) S
Delivery
B) imZlinEck
End-to-end integration
C) Bl
Governance
D) Ak
Strategy
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4/ 40
SIAMAS R AR —EHR TR E R IRIE?

Which layer of the SIAM ecosystem performs end-to-end assurance?

A) EFRHERA

Customer organization
B) {REAERAE

Retained capabilities

C) MRSBEME

Service integrator

D) BRSS#RftE

Service provider

5/40
EMBLITHIRSIAMEREY, FREERIRS RHUBIESERSEMRERLAERLI.

X T RHRA A EE LI ER RS h?
IBICESIFR A,

An organization wants to transition to SIAM. They want to avoid service providers making
accusations of the service integrator being biased.

In which two structures is this behavior most unlikely?
Please remember to select two answers.

A) SNEBARSS SRR ELEH
External service integrator
B) BEIRS SRS
Hybrid service integrator
C) ARG SRRAELEHE
Internal service integrator

D) BEEMN RS SEAEESH

Lead supplier as a service integrator
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6/40
ERAIRSENREEET, R MERIRHIRSS SEMEES?

In the hybrid service integrator structure, which two parties collaborate to provide the
service integrator capability?

A)

B)

9)

D)

EFELMINEARR

Customer organization and external organization

B REMABRIRS SRR

Customer organization and internal service integrator

SMNERRRSS SRR TN R AN RS

External service integrator and lead supplier

IBRARSS SR FNIRBEERRE

Internal service integrator and retained capabilities

7/40
TESIAMESZCEIRIER I ER ROZ 0 F AR SRR e TR AR ?

In which stage of the SIAM roadmap should the principles and policies for roles and
responsibilities be defined?

A)

B)

9]

D)

RESEBRHER
Discovery & Strategy
SERERTER

Implement

MR SRR ER

Plan & Build
BITEHUHMER

Run & Improve
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8/40
FNEERSEMUBRN T REXKERNHIE, FWEFERERIKRSS. EIRSEMERIFEET, )
FIREMRSRUBREHIER, FRTRABRRAERICIFTTZ.

HENIZIGRIZI?

A provider of hosting services experienced recurring incidents that affected all end-to-end
services. Using information from the other service providers, facilitated by the service
integrator, they developed an innovation which permanently resolved the underlying root
cause.

Who should be rewarded?

A) FrEIRSRHBTIRS ENE

All service providers and the service integrator

B) FrBEIRSIEMRE, MAEERSEND

All service providers but not the service integrator

C) (NENITERSEMS
The provider of hosting services only

D) {XBRSSERkRE

The service integrator only

9/40
SIAMEZZEIRIIR BT ERIR A 7 337 I ARFIARSS HARD ?

Which stage of the SIAM roadmap provides an awareness of available technologies and
services?

A) RESHEERHER
Discovery & Strategy
B) SCHERIER
Implement
C) FXISHIEMER
Plan & Build
D) = TSHUHMER
Run & Improve
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10/ 40
EFAAREERERIRERTASIAMENNEE. IEEERFEEXEG,

ATEIMX—BIR, ZEROZMEA?

A customer organization wants to complete the implementation of their SIAM model in the
shortest possible time. They are prepared to take risks.

What should this organization do to achieve this?

A) REHERSRME

Appoint service providers early
B) LiERNATRETE

Implement organizational change management
C) REXBEGE

Use a big bang approach
D) REZRLhEIE

Use a phased implementation

11740
ESIAMESERYERAAN R EEIR T SIAMEERLRITER?

IBICIEAFER TN &5,

Which two stages from the SIAM roadmap include designing the requirements for the
SIAM model?

Please remember to select two answers.

A) RESHEERHER
Discovery & Strategy
B) SCHERIER
Implement
C) FxISHIEkMER
Plan & Build
D) = TSHUHMER
Run & Improve
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12 /40
BRTEEIEMSIAMEBEERIBR N ERIFE?

In which stage of the SIAM roadmap does organizational change management commence?

A) BRESEIEMER
Discovery & Strategy

B) sCHERER

Implement
C) MXISHIZEMER
Plan & Build
D) = TSHUHMER
Run & Improve

13/40
ENESIAMEEHNTESIAM RS BRI T ERIZEHE?

In which stage of the SIAM roadmap should the preferred SIAM structure be selected?

A) RRSHEEMER
Discovery & Strategy
B) SCHERTER
Implement
C) MXISHIEMER
Plan & Build
D) = TSHUHMER
Run & Improve

14/ 40
[SENSEREM BRI MR EREHA?

IBICIEAIER 1N &4,
Which are two triggers to start the Implement stage?

Please remember to select two answers.

A) NBRSRHBIELRS
An existing service provider ceasing to trade
B) MERSREFSELLL
The end of an existing service provider’s contract
C) FSIAMIREYRISLHE
The implementation of the new SIAM model
D) LT iAATIERE

The selection of the implementation approach
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15740
B—SIAMABIERE R ERRSSIAEMRIE?

Which SIAM role is typically accountable for service governance and assurance?

A) EFHEHA
Customer organization
B) EXEMOIERE
Integrated change advisory board

C) RSERE

Service integrator

D) BRSSHRftE

Service provider

16/ 40
HERTESIAMIET AL F B AIBRSS TR RS ME ?

Who decides what roles and responsibilities in the SIAM model will be sourced externally?

A) EFRHER

Customer organization
B) SMEBARSS IR

External service providers
C) WEBIRSSEME

Internal service providers

D) BRZERE

Service integrator

17 /40
IR EN SR EERRAR?

Which role is accountable for contract management?

A) EFPAR
Customer organization

B) HUTZERS
Executive board

C) IRSERE
Service integrator

D) HAZRS

Tactical board
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BT NERETA?

What does a single structural element cover?

A) —MERFH—E

One layer in one organization
B) ZNMANHH—Z

One layer in multiple organizations
C) —MERFNZE

Multiple layers in one organization

D) ZNMERFHZE

Multiple layers in multiple organizations

19/ 40

Bz E A B R RITCMEREASIETIRISGAILILZI?

=%IN

Which operational role is responsible for discussing lessons learned arising from resolving a

major incident?

A) HEEEICIR
Incident management forum

B) HEEETIFE

Incident management working group
C) EXEMAIERS

Integrated change advisory board

D) EXHETIFA

Major incident working group

20/ 40
Sl TRRIAISASLERIRATHE SRR —IT?

Which is not a challenge related to the technology practice for creating a tooling strategy?

A) TEENZIERYERO
Gaps between process activities
B) FTXERIEETH
Ineffective legacy tools
C) THEEXRIIIRSEMRE
Non-compliant service providers
D) TERFEEEN
Toolset scope definition
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21/40
EETEHRREEBART, BRI THA?

When managing cross-functional teams, what does a communication plan provide?

A) BARTEFEIEXERAEXKFAEERDE
An appropriate level of regular communication for all stakeholders
B) EHEZEAFEENHERIY

Face-to-face meetings between virtual teams are not required

C) R TEHWMAIEAEIREIIRRK

Reduced need to re-enter and translate data

22 /40
HEESEARRSIREEAIER, MZERARRBIFERREFAIRO?

When integrating processes across service providers, which should be used to identify and
avoid gaps in process flows?

A) DevOps
DevOps
B) XiEGwUEtn (KPI)
Key Performance Indicator (KPI)
C) RACIEREF
RACI matrix
D) BRSZFERIMY (SLA)
Service Level Agreement (SLA)

23 /40
SR RAIEEH A2 H—I?

Which is a main challenge associated with cross-functional teams?

A) HEHMRNBER. BREMEFITIEE:
Conflicting objectives, organizational strategies and working practices
B) nfEiEshZBAYERO
Gaps between process activities
C) FTiEbETinEin TERTE
Inability to map end-to-end workflow
D) ZEMIRIERIS

Lack of architecture
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24/ 40
BifzSHE TERKEXAISERE.

BRRhSER S B T ARSS SR FIARSS IR IR T MR SIAM T B A RITIE?
There are a number of practices associated with creating a tooling strategy.

Which practice helps the service integrator and service providers understand how the SIAM
toolset will evolve?

A) RF3EREYET A

Adopting a common data dictionary
B) 1TliRETDE

Industry standard methods
C) FUEFITRERIATEN

Ownership of data and toolsets

D) HIREKREFORRLEE]
Technology strategy and roadmap

25/40
SIAMIME MinElinlEB+AGIF?

Which is an example of end-to-end measurement in a SIAM environment?

A) 1SEMRSSEMEIFKERRRFERRIFIIHTE)

Average time to resolve a problem by a particular service integration partner

B) AIERFRSMERARSS IRAtRAYELER

Comparison of internal versus external service providers
) EMSSEI TR EAVERLEE
How many incidents have been raised by a particular business division

D) E33ARS KA BIRAIIRSS AL E

Responsiveness of the service against service level targets

26 /40
HESIAMAESREH, FraREEN S RNERRREMTA?

Which consideration is common for all processes in a SIAM ecosystem?

A) ERRSIEHUBIERSZBMAF—H

Aligning resolution targets across service providers
B) imiERIREE AR

Processes can seem more complex
C) M#IE=H. KIEMEERERX

The requirement for a data dictionary, terminology, and thresholds
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27 /40
FEEIRS MR BRI A?

Which is the purpose of the continual service improvement process?

A) SEHFIRIRIARSS TR Jo LUt AR S35 6 H Bk
To encourage and incentivize service providers to contribute to continual service
improvement
B) LIFARIFEUHIRSESIAMIBEZERSANE L
To ensure that continual service improvement is on the agendas of SIAM governance boards
C) ‘BM—EUTix, UEN. RIMEESUHERI
To provide a consistent method of quantifying, tracking, and managing the delivery of
improvement activity

D) HEMSIAMAES RS Z T RINAIEL0H0)

To share lessons learned across all parties in the SIAM ecosystem

28 /40
IR —RIRSS IR RIS,

BRI R EEERBREMA?
Tom is the problem manager in a service provider.
What is the purpose of Tom's problem management process?

A) ES MRS RAHUBZENREIEREEEREN
Coordinating problem investigation and resolution activities across multiple service providers
B) iL&=75HRESE DR
Getting all parties to take part in joint working to resolve problems
C) BhlEEFEMRBNAERESRE
Preventing incidents and problems from occurring or recurring
D) ERERIRIIEFEERIRIELRRIKERSS

Restoring service in an agreed timescale dictated by priority
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29 /40
B—NtERIE R BRIRR B RIMFFE R R GRS i

Which process has as its main purpose an early detection and avoidance of system and
service outages?

A) TESKMEMERE

Change and release management
B) IFEARSSEUHIRIE

Continual service improvement
C) ESEHERE

Event management
D) HEEEME

Incident management

30/ 40
SIAMESRAFEMEIRE RISIAMBERZHA?

Which SIAM consideration is common for all processes in a SIAM ecosystem?

A) ERRSZIRHBIIRSSIEHE 2R FERIRR
Building and maintaining strong relationships between service providers and the consumers
of their services
B) HERIERIFTEN. RIZSFIERSRARE!
Defining ownership of the processes and the levels of accountability and responsibility
C) RMt—FEN. RIFNEERUHENRT—EESE
Providing a consistent method of quantifying, tracking and managing the delivery of
improvement activities
D) RAt—MAIZE., EMEEERNFREISREKFRASBERIERITTE
Providing a structured approach that delivers projects on time, on budget and at the
appropriate level of quality

31/40
USSR AR S AMPERCRIR A 47

Which is a SIAM consideration of the monitoring and measuring process?

A) N—HREUETH, BUREE. KNiE. BEFIRSHERNEK
Requirements for consistent data dictionary, data models, terminology, thresholds and
reporting schedules

B) NMAREMHAR RS RHEAIIRS SEARISRIE
Responsibilities for testing integration between services from different service providers
should be defined

Q) E5ZHFIRRARD R BN EARRRS R MHE Z BRE—E

Targets for event diagnosis and resolution should be common across service providers
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32/40
HAREREEREFRI— N SIAMIEEEIN?

Which is a SIAM consideration for the incident management process?

A) EXEHESEHEATRIN
Defining rules for managing event thresholds

B) MRFTBIRSIRHEEERNESIRS

Ensuring all service providers are able to monitor their services

C) EEIEERHRE AT sERFRIRS 1ERERISES

Managing events that are degrading or could degrade service performance

D) S&AREMAMREIRS TS RAISTTEE

Minimizing the number of parties involved in restoring a service

33/40
SIAMBS & EF B ZEMIEECIERE S A R EHA?

Which is the earliest stage of the SIAM roadmap to be affected by the challenge of building

the business case?

A) RRSHEEMER
Discovery & Strategy
B) SCHERTER

Implement

C) MxISHaEkER

Plan & Build

D) = TSHUHMER

Run & Improve

34/40
BRANSIAM EIR B ZEE ESIAMBR DX Ik e AR ?

Which SIAM layer is not affected by the challenge of measuring success of SIAM?

A) EFHEA
Customer organization

B) BRSZEAE

Service integrator

C) MRSESRME

Service provider
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35/40
REFPRL— MRS REERE T AITFRAYIRS KA.

S EEERRNXERTA?
A customer organization sets unrealistic service levels for one of their service providers.

Which risk is directly related to this?

A) TIREMELANIRSS HES BosiE.
It could be difficult to allocate responsibility for service failures.
B) EFHIEUIEAIREFEMXPL,
The customer’s data may be at risk.
C) IRSEMEAIREREETHERS
The service integrator may not be able to fulfill their role.
D) IRSBHRMAEIRIBHESESR,
The service provider may withdraw from the ecosystem.

36 /40
BEFPRLTERGFEIERNRERIRSS, MNMAEEESIAMES R H L BEABTE.

St EZEXRNXERMA?

A customer organization is unable to map dataflows and the end-to-end service leaving
them unable to understand the scope for security in their SIAM ecosystem.

Which risk is directly related to this?

A) BRSREEANLEMNTTRRRIETE.

Service providers may have access to data to which they are not entitled.
B) MRSSIRMHEIRELIESIMERSS Bix.

Service providers might not achieve their service targets.
C) SCHESIAMAIRAEIBES T it k.

The cost of implementing SIAM could be higher than planned.
D) IRSZEREIRERIEINTIFE.

The service integrator might have an increased workload.
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37 /40
FESIAMES RS H, RSEHBETEENHITIESLI.

BRI EEBRREAA?
In a SIAM ecosystem, service providers need to adapt to a new way of working.

Which is an associated cultural consideration?

A) FERSIEMHEEIE—NEESEMMNAERE
Creating an environment for service providers that is focused on contracts and agreements

B) RBEHBFRANRSENBEGIES. RRMAENBEN
Service providers acknowledging that the service integrator has the autonomy to direct, make
decisions and govern

O) RSBSREHEFEEETEIIE CRERIIRS /K BIR
Service providers focusing on the achievement of their own specific service levels and
objectives

38/40
HEEFPBRREBREHSFIERUKF2REER.

IMERRBESBHANXKR?

Defining the level of control and ownership to be retained by a customer organization is
important.

Which is a risk of leaving this undecided?

A) DERSHIESTREE bbbk,
It will be challenging to assign responsibility for service failures.
B) RRBIEMUBITEIEESF.
Service providers may be unwilling to collaborate.
C) ARSSEPARIRETTIEBITHERS,
The service integrator may be unable to perform its role.
D) SIAMItXIRIRIHFIEE R,

The success of the SIAM program cannot be measured.
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39/40
ITILFFE SSIAMZ BB HAXE?

How are ITIL processes and SIAM related?

A) ITILREERTETSIAMIRRER, FHEME THEARIAE.

ITIL process outcomes are different from SIAM process outcomes and provide other insights.
B) ITILRELFIELEAIATSIAMAESRE.

ITIL processes can be used in a SIAM ecosystem without any adaptation.
C) SIAMEZEVZZEITILRIRS EETRZ LHNEB T T R,

SIAM builds on the ITIL's service management elements and extends them.

D) SIAMREITILASEN M, EAMEREETRIE.

SIAM is a replacement for ITIL and therefore does not use any of its processes.

40 / 40
B—FsCREMIE T el —Fr M BRI =YL ?

Which practice focuses on creating a collaborative culture and sharing?

A) DevOps
DevOps

B) ISO/IEC 20000
ISO/IEC 20000

C) ITIL
ITIL

D) B
Lean
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1/40
IERFPZERAAR KT EEM SIAMERIS 2 ERINME?

Which organization is unlikely to get the full value from SIAM?

A)

B)

0

D)

A)

B)

9]

D)

FARBRFNINEBIR S TR AR IR AR SS AIER

One with a mix of internal and external service providers
RES—IRSIEMHBRHIRSAIAR

One with a single service provider only
FRYMNIRIR S IR AR IR At ARSS RUZELR

One with external service providers only

FERIR S IR AR IR At ARSS RUZELR

One with internal service providers only

HiR, HEEES MRS REEBNERSEERASIAMTERRERSME.

Incorrect. Organizations looking to manage multiple service providers will get a lot of value
from adopting SIAM.

IEff, REBS—IRSEHBRERSHNALATEKEGSIAMBEENE. (X@: A, $B1.15)
Correct. Organizations with just one single service provider are unlikely to get the full value
from SIAM. (Literature: A, Chapter 1.1)

iR, HIMNTIRSIRERMIRSHNEBRESRASIAM,

Incorrect. Organizations with external service providers are suitable for SIAM.

iR, ARTIRSREBRMRSINERBERASSIAM,

Incorrect. Organizations with internal service providers only are suitable for SIAM.
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2/40
SIAMSRHB MK HEE T SRS ERREX—IKaIEER?

Which driver group in SIAM includes a driver of data and information standards?

A)

B)

9]

D)

A)

B)

9]

D)

HNERIRZN AT

External drivers

EEREIKNT

Operational efficiencies

IRSS SRMWINEZIKEN

Service and sourcing landscape
RS HEERNS

Service satisfaction

R, SHEREERNRERZEASIAEMINPBER.

Incorrect. The drivers related to external factors are corporate governance and external policy.
1. XREEERNDPNENMEEERZRZ—, (Z#k: A, 51.5.2.35)

Correct. This is one of the four drivers in the operational efficiencies driver group. (Literature:
A, Chapter 1.5.2.3)

Hix. IRSSRWINEZRENIRERANE R EIRINEGRE. FFIT. ZIRRWE. RSIZEBIHENGIKIA
RARENEHE.

Incorrect. The drivers in the service and sourcing landscape drivers group are external
sourcing, shadow IT, multi-sourcing, increase in the number of service providers, inflexible
contracts.

HiR, XABZEHDHKER. REHBERDDNRNEZEERS L. RSREERE. &
WHIRESERER. FBNEEEE. MERN. RSREBIERZIMELILZIINS.

Incorrect. This is not a driver for this group. A few of the drivers for service satisfaction driver
group are service performance, service provider interactions, clarity of roles and
responsibilities, slow pace of change, demonstration of value, lack of collaboration between
service providers and delivery silos.
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3/40
IRSBZEMSER (SIAM) ESEFEFRSREFIISRERMTA?

What is a responsibility of a service provider in a SIAM ecosystem?

A) fS
Delivery
B) imEimEERk
End-to-end integration
C) ial#
Governance
D) Akh%
Strategy

A) I, BMRSEEBASE—NSSMRSVRSTERNEER. AREERTRMAESREENY
AEMRSHFmilAK, FsEECHRE. OO A, $1.1.145)
Correct. Each service provider is responsible for the delivery of one or more services, or service
elements, to the customer. It is responsible for managing the products and technology used
to deliver its contracted or agreed services and operating its own processes. (Literature: A,
Chapter 1.1.1.4)
B) &R, mElintER RS EMERISEE.
Incorrect. End-to-end integration is the responsibility of the service integrator.
O) fHiR. REREFARMIRSEMEISRE,
Incorrect. Governance is a responsibility of the customer organization and service integrator.
D) $#&iR. HIEMAIREEFERANSE.
Incorrect. Strategy is a responsibility of the customer organization.
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4/ 40
SIAMAES R AR —EHRI TR E iR RIE?

Which layer of the SIAM ecosystem performs end-to-end assurance?

A)

B)

9]

D)

A)

B)

9]

D)

EREN

Customer organization
{RERERRE

Retained capabilities

ARSS SRRk

Service integrator

ARSI

Service provider

Bix. (FAHEERIN—ED, ERERARTEAEBSIAMTENGEEER. BRESIAMESRS.

Incorrect. The customer organization is the end client that is making the transition to SIAM as

part of its operating model. It commissions the SIAM ecosystem.

Hix. (REIRRERMSRANE. 281, WSSEURAEREESNRIER].

Incorrect. The retained capabilities are the functions that are responsible for strategic,

architectural, business engagement and corporate governance activities.

IEffs, SIAMESRANRS ERBERENTRINRIRSAE. BB, S, RIEONES,
(SZ#k: A, 881.1.1.4%)

Correct. The service integrator layer of the SIAM ecosystem is where end-to-end service

governance, management, integration, assurance and coordination are performed. (Literature:

A, Chapter 1.1.1.3)

HiR, SRBSREBATE—NBESNMRSERS TERZHEZF.

Incorrect. Each service provider is responsible for the delivery of one or more services, or

service elements, to the customer.
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5/40
ML IRISIAMEREY, HREE RIS RHUBIERRSSEAEHR LB RHI.

XF T ARA A REH I EM RS f R ?
IBICIEHIERTEE,

An organization wants to transition to SIAM. They want to avoid service providers making
accusations of the service integrator being biased.

In which two structures is this behavior most unlikely?

Please remember to select two answers.

A) FNEBRRSS EERNELEH
External service integrator
B) BAIRSEAELEH
Hybrid service integrator
C) REBIRS AL
Internal service integrator
D) BEMNEIRSEMEE

Lead supplier as a service integrator

A) BiR. BRERFEB T RSEMBTRSREEEHAE, TEEANFERL, FEMzERATEEEMMR
SRUEETRFEF.
Incorrect. The organization acting as the service integrator and service provider might be
perceived to be biased, since this party can be a competitor of other service providers.

B) IEfs. ERSIRSEMBEENETD, INRSEMBSEFER—EIIF. EFREMNRAIERIERER
M. B, XAMEEREENRESRE. (B A, $3257/153.35)
Correct. In a hybrid service integrator solution, the external service integrator works together
with the customer organization. The customer organization is very unlikely to be accused of
being biased. Therefore, these two structures will be the best choice for the organization
wanting to transition. (Literature: A, Chapter 3.2 and 3.3)

C) IEfh. ERIRSENBDEEF, REENBEEFER. ERERRATERESRERL. AL, X
PSR ENRIEERE. (OB A, $3.28/M5%3.35)
Correct. In an internal service integrator solution, the service integrator is the customer
organization. The customer organization is very unlikely to be accused of being biased.
Therefore, these two structures will be the best choice for the organization wanting to
transition. (Literature: A, Chapter 3.2 and 3.3)

D) iR, BRENAETIRSENBFRSRMUBAEER, T ANTFERL, BHZANRRTEREMR
SRUEETRFEF.
Incorrect. The organization acting as the service integrator and service provider might be
perceived to be biased, since this party can be a competitor of other service providers.

EXN Z 1 #% EXIN SIAM™ Foundation (SIAMF.CH) 25

SIAM™

&



=%IN

6/40
EREIRSENEENT, RERHI M ERIR RS Semlisen?

In the hybrid service integrator structure, which two parties collaborate to provide the
service integrator capability?

A)

B)

9)

D)

A)

B)

0

D)

EFRLFIFMBAR

Customer organization and external organization

EFRRMRERIRS SR

Customer organization and internal service integrator

SMNERRRSS SRR TN R AN RS

External service integrator and lead supplier

PIBRARSS SE R R FNIRERERAE

Internal service integrator and retained capabilities

IEffs, FERARSERBEES, BFRERSINIARIME, BARSEAEHE, RERSEMREE
H. (O#k: A, 5$E33E)

Correct. In the hybrid service integrator, the customer organization collaborates with an
external organization to take the role of service integrator and provide the service integrator
capability. (Literature: A, Chapter 3.3)

IR, XERESIAMES R ST MEZNE,

Incorrect. These are two separate layers in a SIAM ecosystem.

HiR. BRHNBEHERR T ESEHEIIS—ME,

Incorrect. Lead supplier is a different structure than hybrid.

iR, XEESIAMESRATRMEIZNE, REREREFHEAN—D
Incorrect. These are two separate layers in a SIAM ecosystem. Retained capabilities are part of
the customer organization.
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In which stage of the SIAM roadmap should the principles and policies for roles and
responsibilities be defined?

A)

B)

0

D)

A)

B)

0

D)

RERSAIEIER
Discovery & Strategy
SEhERTER

Implement

MK SHIRERER

Plan & Build
BITSHUHMER

Run & Improve

IEffs, XERRSMEMRESNZ—, O A, $2.148)

Correct. This is one of the activities in the Discovery & Strategy stage. (Literature: A, Chapter
2.1.4)

R, BAMERENE, BERRSAIEMRTPHHE.

Incorrect. They are implemented in this stage but are defined in the Discovery & Strategy
stage.

HiR. FEIZMER, RIERRSMAIEMRFE X NRNARERAEFARIAeFI=E.

Incorrect. The detailed roles and responsibilities are defined in this stage, against the
principles and policies defined in the Discovery & Strategy stage.

iR, IEXDMERGREI TER, BERRSHRERMNERIGEIRE.

Incorrect. They are improved in this stage but are defined in the Discovery & Strategy stage.
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FNEERSEMHBRN T REXKERNHIE, A RERIKRSS. EIRSEMERIFET, )
FIREMRSRUBREENER, FRTRABRRATRICIFITZ=.

HENIZIGRIZI?

A provider of hosting services experienced recurring incidents that affected all end-to-end
services. Using information from the other service providers, facilitated by the service
integrator, they developed an innovation which permanently resolved the underlying root
cause.

Who should be rewarded?

A) FrEIRSRHBTIRS ENE

All service providers and the service integrator

B) FTEIRSIRMRE, MABIERSERE

All service providers but not the service integrator
C) (NENITERSEMS

The provider of hosting services only

D) {XBRSSERkRE

The service integrator only

A) IEfs. ©AERRSZEHEBESEMARZRPEIBECHFIZE. RIS ATERIMETE. RYF
IMGEEIEREIFTEFIEAXT, MAMULESIAMIERFN—E, (Zgk: A, 5244.55)
Correct. Service providers must be encouraged to collaborate rather than protect their own
interests. Reward mechanisms can be used to encourage collaboration and communication.
Good practices include reward all stakeholders, not just one layer of the SIAM model.
(Literature: A, Chapter 2.4.4.5)

B) &ix. IRFEMESEET, FEEZIRME.

Incorrect. The service integrator was involved and needs to be rewarded.

O iEiR. EfbIRZSREUEDREMTER, RSEAFHRETHER. B, MIIEFEESRIRME.
Incorrect. The other service providers provided information, and the service integrator
facilitated. Hence, these parties also need to be rewarded.

D) (&R, RSEUHBRHTERS, EFEEEIERAH.

Incorrect. The service providers provided information and need to be rewarded for this.
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Which stage of the SIAM roadmap provides an awareness of available technologies and
services?

A)

B)

9)

D)

A)

B)

9]

D)

RERSAIEIER
Discovery & Strategy
SEhERTER

Implement

MK SHIRERER

Plan & Build
BITSHUHMER

Run & Improve

IEff, THEDIHERRSAEMRN—IUES), XIUENEERIEMEE B o B ARSI TH
B, (@t A $21478)

Correct. Understanding the marketplace is an activity of the Discovery & Strategy stage. This
activity should include a review of available technologies and services against the strategic
objectives. (Literature: A, Chapter 2.1.4.7)

R, M T RZR EESEIEM R AT, BMRZRSHEERHER,

Incorrect. Understanding of the marketplace should take place before the Implement stage, in
the Discovery & Strategy stage.

HiR. XHighy T ENIZR EEKI SRR R, BHRRS ISR,

Incorrect. Understanding of the marketplace should take place before the Plan & Build stage,
in the Discovery & Strategy stage.

HiR. Xz T RNIZ R ETERER SR ER.

Incorrect. Understanding of the marketplace should take place in the Discovery & Strategy
stage.
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ATEIMX—BIR, ZEROZMEA?

A customer organization wants to complete the implementation of their SIAM model in the
shortest possible time. They are prepared to take risks.

What should this organization do to achieve this?

A)

B)

9]

D)

A)

B)

9]

D)

REHERSRAE

Appoint service providers early

AR EEE

Implement organizational change management
RAXIBIEDE

Use a big bang approach

RFADIRERETT %

Use a phased implementation

iR, XEESIAMEBEERINLI SN BRIy, ZBRCET LN ER.

Incorrect. This is done in the Plan & Build stage of the SIAM roadmap. This organization is
already in the Implement stage.

AR, ARTRERBENEEXTHTFEERER, BRANFEREMIINFEK.

Incorrect. Organizational change management will prepare stakeholders for the change. It is
not what this organization needs to fulfil their needs.

IEffs, RIBNESLIETS AR —RMSR B TIFAERISE, XAURESHRREEING, ERRTEHEAR
BURBIXFINEG, RIWXRHENME. OOt A, $2341.15)

Correct. A big bang implementation approach is one that introduces everything at once. It can
be a high risk, but since the organization is willing to take this risk, it is the best course of
action. (Literature: A, Chapter 2.3.4.1.1)

HiR. 2RSEHETS ARG SERERY/S R iE).

Incorrect. A phased approach will extend the total time for implementation.
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IBICIERIERTEE,

Which two stages from the SIAM roadmap include designing the requirements for the
SIAM model?

Please remember to select two answers.

A) BRESIEMER
Discovery & Strategy
B) SCHERIER
Implement
C) MXISHIZEMER
Plan & Build
D) = TSN ER
Run & Improve

A) I, EE—MRBETIRFR, EE_MREBIE—FLRRE. (X@t: A, $28)
Correct. The high-level requirements are defined in the first stage. These are further
developed in the second stage. (Literature: A, Chapter 2)

B) $HiR. TESCHERNER, TERMSCHE. EBIUMER, HREEEAIEIT SIS0,
Incorrect. In the Implement stage, the requirements are implemented. The fourth stage is
where the SIAM model is operated and continually improved.

C) IFfa. ES—MERIE TTRRFR, R _MREIIH—LRKRE. O A, $25)
Correct. The high-level requirements are defined in the first stage. These are further
developed in the second stage. (Literature: A, Chapter 2)

D) $&iR. fESCHERER, FHRWSLHE. EHRMUMER, FFRERRISTSIFERNUH,
Incorrect. In the Implement stage, the requirements are implemented. The fourth stage is
where the SIAM model is operated and continually improved.
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In which stage of the SIAM roadmap does organizational change management commence?

A)

B)

9]

D)

A)

B)

9]

D)

RERSEBEMER
Discovery & Strategy
SChERTER

Implement

MK SRR

Plan & Build
BITSHUHMER

Run & Improve

iR, HESIAMBEZERITALSHEENER, ZHRANATEER,
Incorrect. Organizational change management does not commence until the Plan & Build
stage of the SIAM roadmap.

iR, BATHEIRTIREETHIY SEENR, BREBIIEMNE, ARENT—MEE,
Incorrect. Organizational change management starts in the Plan & Build stage of the
roadmap. It continues through the Implementation stage and into the next.

IEff, BRTHERNFARSIAMERZEER SIEMBRNBER. EaibAREH. (O A, 8
221E, 522458, F2.255)

Correct. The commencement of organizational change management is an objective, activity,
and output of the Plan & Build stage of the SIAM roadmap. (Literature: A, Chapter 2.2.1, 2.2.4
and 2.2.5)

iR, BARTHEIRRTIREGERTHI SEENER, FREFSSEMERSHX SHTEMER.
Incorrect. Organizational change management starts in the Plan & Build stage of the
roadmap. It continues through the Implement and Run & Improve stages.
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In which stage of the SIAM roadmap should the preferred SIAM structure be selected?

A)

B)

9]

D)

A)

B)

0

D)

RERSEBEMER
Discovery & Strategy
SChERTER

Implement

MK SRR

Plan & Build
BITSHUHMER

Run & Improve

IR, ERRESHIBMRATSESIEE—MEE, ERESIAMEIRII—ERS, (BRIZEHERITIIX]
SR RIRE.

Incorrect. A structure may be proposed during the Discovery & Strategy stage, as part of
defining the strategy for SIAM, but it is not selected until the Plan & Build stage.

HiR, WIESCHERERFTIAZRT, eI AR SRR BRI,

Incorrect. The structure must be selected during the Plan & Build stage, before the start of the
Implementation stage.

IEfs, EI BRI SRS (SR BRI Z ARG FE T K S ERAVEIESIAMES D, (3R :

A, 38224125)

Correct. All the information gathered so far should be used to select the preferred SIAM
structure in the Plan & Build stage. (Literature: A, Chapter 2.2.4.1.2)

HiR, ESCHERERIFIAZAL. THKI SHTE M ERHAEIA U E LS,

Incorrect. The structure must be selected during the Plan & Build stage, before the start of the
Implementation stage.
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IBICIERIERTEE,

Which are two triggers to start the Implement stage?

Please remember to select two answers.

A)

B)

0

D)

A)

B)

9]

D)

NERSREBFILRS

An existing service provider ceasing to trade
NERSREFEELRLL

The end of an existing service provider’'s contract
FSIAMIR BRI

The implementation of the new SIAM model
SEHETT AR

The selection of the implementation approach

IEff. MBRSREBELRZZILRTEMRIMARZE. (O A, 5$23.25F)

Correct. An existing service provider ceasing to trade is a trigger to the Implement stage.
(Literature: A, Chapter 2.3.2)

IEff. MBERSRUBERLILELEMRAMARE. (B A, $23.258)

Correct. The end of an existing service provider’s contract is a trigger to the Implement stage.
(Literature: A, Chapter 2.3.2)

HiR. FSIAMIREIRISCHERSCHER ERAYIES), BRIETSBUAMERAVMAEE.

Incorrect. The implementation of the new SIAM model is an activity of the Implement stage
and a trigger to the Run & Improve stage.

HiR, RS A LM BRA—TUE.

Incorrect. The selection of the implementation approach is an activity in the Implement stage.
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Which SIAM role is typically accountable for service governance and assurance?

A) EFRER

Customer organization
B) EREEMEERS

Integrated change advisory board
C) IRSERE

Service integrator

D) BRSSHRftE

Service provider

A) iR, BERARSAEMRIERSR, XERSEMEAVERES.
Incorrect. The customer is not accountable for service governance and assurance. This is the
responsibility of the service integrator.

B) iHiR. ENEEMOIZEREEERIERR, ERGIRSQEMFRIERE.
Incorrect. The integrated change advisory board has responsibilities related to the assurance
of changes, but they are not accountable for service governance and assurance.

C) IEff. IRSBIEEMRIERRSEMBIREIRRZ—, (OL8k: A, 55458, 55.1.38)
Correct. Service governance and assurance is one of the key accountabilities of the service
integrator. (Literature: A, Chapter 5.4 and 5.1.3)

D) $HiR, AESIAMELTRRH, IRBREBAIIRS AEFMIRIERS,
Incorrect. Within a SIAM ecosystem, service providers are not accountable for service
governance and assurance.
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Who decides what roles and responsibilities in the SIAM model will be sourced externally?

A)

B)

9]

D)

A)

B)

0

D)

EREN
Customer organization

SMNERRIRSS TR

External service providers

RERIRSS R4t

Internal service providers

ARSS SRRk

Service integrator

IEf, ZEPEEARTNINEIRSEARLIREEIN, BEHRREZFANANRME, BAuiIERERRA
=, (OHk: A, $51.1F)

Correct. The customer organization may take advice from an external service integrator, but
decision is the responsibility of the customer organization as they are accountable for the
outcomes. (Literature: A, Chapter 5.1.1)

HiR. SNEBIRSZIRHEAMIXNRE,

Incorrect. External service providers do not make this decision.

HiR. REPIRSZIRHE X NRE,

Incorrect. Internal service providers do not make this decision.

AR, BARSEMEITAZFRMHEN, ERMERENEEZFER.

Incorrect. Whilst the service integrator may advise the customer, it is the customer
organization who makes the decision.
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Which role is accountable for contract management?

A)

B)

9]

D)

A)

B)

9]

D)

E)-:Izﬁ—/\
Customer organization

PITERS
Executive board

ARSS SRR
Service integrator
SAEZERE

Tactical board

IEff, EFERSIMPANSITER, FEHLNEEEAR. (K@t A, 585.35)
Correct. The customer organization holds the contracts with external organizations, hence is
accountable for their management. (Literature: A, Chapter 5. 3)

iR, PTEESTCSEREEEXNEE, Bt YERE
Incorrect. The executive board may discuss issues with management of contracts, but they are
not accountable for contract management.

IR, RSERBETLGENTEREEN LIS, XEESHEFEARS S]], ESEEEE
%EEEF'*H%}'\N E At I SINBERRET T AR,

Incorrect. The service integrator can be responsible for the execution of some tasks for
contract management, devolved to them by the customer organization, but the accountability
for contract management is always with the customer organization as they hold the contracts
with external organizations.

HBiR. MAZRSFTICSEEEEAEXNETHE, EfiIrYEEERRE.
Incorrect. The tactical board may discuss issues with management of contracts, but they are
not accountable for contract management.
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What does a single structural element cover?

) —/\QE_I\EPE’J—}:
One layer in one organization
B) ZNMANHH—Z
One layer in multiple organizations
C) —MERAFRIZE
Multiple layers in one organization

D) ZNERFHZE

Multiple layers in multiple organizations

A) iR, YW/ NERTREEHMSIAMAESRANME=E. iIhAIERES MR, FINZ MRS
%O
Incorrect. Structural elements may span all three layers of the SIAM ecosystem. They also may
cover several organizations, like several service providers.

B) fHiR. HUNEAREEHSIAMESRARNMBE=E.
Incorrect. Structural elements may span all three layers of the SIAM ecosystem.

C) iR, MITREREEZMAR, PINSIRSRAE.

Incorrect. They may cover several organizations, like several service providers.

D) . HMNAREERFEIRRNARIE, ESIAMESRKAFES MR, BZ1MEIE. (X
A, 5E1.1.68E)
Correct. Structural elements are organizational entities that have specific responsibilities and
work across multiple organizations and layers in the SIAM ecosystem. (Literature: A, Chapter
1.1.6)
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Which operational role is responsible for discussing lessons learned arising from resolving a
major incident?

A)

B)

9)

D)

A)

B)

0

D)

HIEERICIR
Incident management forum

HPEETE TIEA
Incident management working group

EREEMRNZERS
Integrated change advisory board

BEAHET(FA

Major incident working group

IEff, {FAIFEBUAR—RD, SIREEIECIREITeENH). (08t A, 85.7.3%, 5$1.1.6.28)
Correct. The incident management forum would discuss lessons learned as part of continual
improvement. (Literature: A, Chapter 5.7.3 and 1.1.6.2)

IR, A TFEHEASWNARRERERE, 1SIRB0 T30,

Incorrect. All working groups are convened to address specific issues. Forums work on
improvements.

%El*o %mﬁ%mﬁlﬂéiﬁé_ | LEIHERJ\KI WTE]\_ %@lo
Incorrect. The integrated change advisory board is an operational governance board, not an
operational role.

iR, AMELFRBEASNRREMRERE, 1SIRET 0.
Incorrect. All working groups are convened to address specific issues. Forums work on
improvements.
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Which is not a challenge related to the technology practice for creating a tooling strategy?

A)

B)

9]

D)

A)

B)

9]

D)

A Z [BAYERO

Gaps between process activities
FToERRIEE TR

Ineffective legacy tools
AMIEERAIIRSIRMHE
Non-compliant service providers
TERFBEEX

Toolset scope definition

I, XSHETERRILX, XESERSREREERESHEXRIIMZ—. T BRI
hEETHENREBTR. TREEREENAS. RSEMHBATEERLUINRIMIAIGRE,  (O0Hk:
A, 3$64.15)

Correct. This is not a challenge related to creating a tooling strategy. It is one of the
challenges related to integrating processes across service providers. The challenges are
ineffective legacy tools, defining the toolset scope, non-compliant service providers and lack
of architecture. (Literature: A, Chapter 6.4.1)

iR, XEHIETERKATHEIEAH S —.

Incorrect. This is one of the challenges related to creating a tooling strategy.

iR, XEHTETEREAEIRIH ST —.

Incorrect. This is one of the challenges related to creating a tooling strategy.

iR, XEHTETEREEIRIH ST —.

Incorrect. This is one of the challenges related to creating a tooling strategy.
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When managing cross-functional teams, what does a communication plan provide?

A)

B)

9]

A)

B)

9]

AR AR E REZSKFRIEHEE

An appropriate level of regular communication for all stakeholders
R B\ Z A FEEXIERIL

Face-to-face meetings between virtual teams are not required
PR 7 EFBANEECEUERIR K

Reduced need to re-enter and translate data

1R, OB TFRMEANEEX A REEKFNERYBREXREEN, HIISNAIREHR
B, (Xmh: A, 566.1.2.45)

Correct. A communication plan is key to ensure there is an appropriate level of regular
communication for all stakeholders, for example meetings and levels of reporting. (Literature:
A, Chapter 6.1.2.4)

iR, EIENFEEFARRZERETI AR, REMNKRZ 628 ERNESEEMEE—
k. BNELEREXNHENGES, BRRFTLMEET#R, EREEFEIRFNIIERR.
Incorrect. Virtual teams need to build relationships between team members. This can be
challenging if there is no regular face-to-face contact between them. It is recommended to
have at least one face-to-face event where team members can get to know each other, to
foster trust and create good working relationships.

iR, XETHEMSLEA— M.

Incorrect. This is a benefit from the toolset integration practice.

EXIN Z 1 #% EXIN SIAM™ Foundation (SIAMF.CH) 41

SIAM™

&



=%IN

22 /40
FEESEARRSREFETER, MZERTARRBIFERTIETRIGRA?

When integrating processes across service providers, which should be used to identify and
avoid gaps in process flows?

A)

B)

9)

D)

A)

B)

0

D)

DevOps

DevOps

KigasaEtn (KPI)

Key Performance Indicator (KPI)
RACI%ER%

RACI matrix

IR ZER MY (SLA)

Service Level Agreement (SLA)

Hix. DevOps@—FxiFtsL;, (EARBTRAIE—mESINEIFRIMES5E.
Incorrect. DevOps is a supporting practice but is not used to identify all participants in the
delivery of a process or function.

HiR, KPIZBETEESATEIR. KPIRAIRS. MEMISBRmEN.

Incorrect. KPIs are metrics used to measure performance. KPIs are defined for services,
processes and business objectives.

IEffs, FIEHS—RZEFIRACIEMES GBI THErERXFRERO. (3@ A, 566.2.1.25, 5
2.24.135)

Correct. The development and agreement of process flows and RACI matrices will help to
identify and avoid such gaps. (Literature: A, Chapter 6.2.1.2 and 2.2.4.1.3)

Hix. SLAARTRAIREERIRO.

Incorrect. SLAs are not used to identify gaps in process flows.
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Which is a main challenge associated with cross-functional teams?

A)

B)

9]

D)

A)

B)

9]

D)

HEE R BR. BREREF T ST

Conflicting objectives, organizational strategies and working practices
A Z [BAYERO

Gaps between process activities

o ARG i E im TEmAR

Inability to map end-to-end workflow

ZRAIAYERZE

Lack of architecture

IEffs, HHEFSRRIBR. BRI TFLis RISIREEAAEIGRIEZE i —, OBk A, 586.1.1
5)

Correct. Conflicting objectives, organizational strategies and working practices are one of the
main challenges associated with cross-functional teams. (Literature: A, Chapter 6.1.1)

iR, XESBIRSIRAERIESEME XAk,

Incorrect. This is a challenge related to integrating processes across service providers.

Hix. ZHRSREIRIRSHBIFREEX,

Incorrect. This is a challenge associated with enabling and reporting on end-to-end services.
Hix. 1XESHIETEREE XA,

Incorrect. This is a challenge associated with creating a tooling strategy.
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BRFhSER A B T IRS SRR FNERSS IR T ESIAM T RSN A RITIE?

There are a number of practices associated with creating a tooling strategy.

Which practice helps the service integrator and service providers understand how the SIAM
toolset will evolve?

A)

B)

9]

D)

A)

B)

9]

D)

KRB ARET A

Adopting a common data dictionary
TAARETSE

Industry standard methods
IR T BRI

Ownership of data and toolsets
BRSBTS E]

Technology strategy and roadmap

HiR, XEmR—ETFE, Hla0, EESEMSRITEED XMAF—EFEEHREIAA. XX3TIERE
SIAM T BEE&aMalEt A HEEf,

Incorrect. This will deliver several benefits, for example giving consistency and a common
understanding of incident priority and severity classifications. It does not help understanding
of how the SIAM toolset will evolve.

HiR, ERITIRESRTEEEERSEEEESEESZEHES TEMEMSIAMTEEZEHE
=8, XXTFEFSIAM T RSN eEH ToEEE A,

Incorrect. Using industry standard integration methods will make it easier for service providers
to share information between their own tools and an integrated SIAM toolset. It does not help
understanding of how the SIAM toolset will evolve.

Hix. TERBRFEEFPEAEIESERAEPIEEE. XTEFESIAM TREENTEHTEHIHE.
Incorrect. The tooling strategy needs to clarify who owns the toolset, and the data within it. It
does not help understanding of how the SIAM toolset will evolve.

IFH, ZEPERTEMRERAMEIREE, LISHRSEABETRSRHUB T HSIAMT RS
HAESHRRE. (O A, 566.248)

Correct. The customer organization needs to outline its technology strategy and roadmap, to
help the service integrator and the service providers understand how the SIAM toolset will
integrate and evolve. (Literature: A, Chapter 6.4.2)
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SIAMIME MinEinlEB+AGIF?

Which is an example of end-to-end measurement in a SIAM environment?

A)

B)

9]

D)

A)

B)

9]

D)

FEEMRSS S pk SR AR BIRRAY SR 18]

Average time to resolve a problem by a particular service integration partner
EBFIFNERARSS TR RS ROELER

Comparison of internal versus external service providers
EMSSER R AT REE

How many incidents have been raised by a particular business division

FIXIBRSS Bl B ARRIBRSS MM 14

Responsiveness of the service against service level targets

HiR. HSERSERSIFKEFRDERNTYIEHIESIAMIMEHERNERRG]. EAmEmwm
BERXTENRSMAZEEREGSIRHE.

Incorrect. Average time to resolve a problem by a particular service integration partner is not
an example of end-to-end measurement in a SIAM environment. As end-to-end measurement
is about the entire service and not a particular component or provider.

HiR. RERIRSSIRMHEFIIMERIRSS IR RILEFHESIAMING NinEinErEanfl, inEinEE:
TARSSTIIRARSS IRALRRIRIL.

Incorrect. Comparison of internal versus external service providers is not an example of end-
to-end measurement in a SIAM environment. End-to-end measurement is about the service
and not about the providers' performance.

HiR. HEMREESSER JRHZ DHIEHIESIAMIMG NMnElinE 2RI — RG], SIEXIIRSAIE IR
EEmEImEE, BFH(ncident) ABHIEEFIFINL, RACHARIRIMERIELYSS BinREER
=.

Incorrect. How many incidents have been raised by a particular business division is not an
example of end-to-end measurement in a SIAM environment. Incidents' impact on the service
could be an end-to-end measurement, but the number of incidents on its own is not, as it is
not reflecting how service was provided against business targets.

EHf. $HXIEHE BRI IIRMER S AMIRE TR FIEBI— R0, (I8t A, 556.3%)
Correct. Responsiveness of the service against defined targets is an example of end-to-end
measurement in a SIAM environment. (Literature: A, Chapter 6.3)
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FESIAMESREH, FraRiEsNERNERERRMTA?

Which consideration is common for all processes in a SIAM ecosystem?

A) FRIRSEHBORRESEBIMAE—E

Aligning resolution targets across service providers
B) RIEJREE NE S

Processes can seem more complex
C) MEE=FH, ANBEMREAEK

The requirement for a data dictionary, terminology, and thresholds

A) iR, XEROEEEREN—SIAMIEEEIR .
Incorrect. This is a SIAM consideration for problem management.

B) IEffs. MTSIAMESEFEFHERERR, XE2—MEXHISIAMIEES . (Ot A, 5B3
5)
Correct. This is a valid SIAM consideration that is common for all processes in a SIAM
ecosystem. (Literature: A, Chapter B3)

0) EiR. XRWNSHME—SIAMIEESI .
Incorrect. This is a SIAM consideration for monitoring and measuring.
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FEEIRS MR BRI A?

Which is the purpose of the continual service improvement process?

A)

B)

9)

D)

A)

B)

0

D)

ST ARSS IR AR /o R AR S L SR8k
To encourage and incentivize service providers to contribute to continual service
improvement
AR RIS SR IRSSTES IAMIRIEZ RSN |
To ensure that continual service improvement is on the agendas of SIAM governance boards
RH—HUTIE, BN, REFMNEELHERIAT
To provide a consistent method of quantifying, tracking, and managing the delivery of
improvement activity

YEMSIAMES R F BT IRENAIZ G0
To share lessons learned across all parties in the SIAM ecosystem

iR, XEFERSSHRETI—SIAMIEESEI .

Incorrect. This is one of the SIAM considerations for the continual service improvement
process.

iR, XEFERSSHRETI—SIAMIEESEI .

Incorrect. This is one of the SIAM considerations for the continual service improvement
process.

IEff, IXRFREEIRSEOEMZAIER. (OBt A, 55B18.18)

Correct. This is the purpose of the continual service improvement process. (Literature: A,
Chapter B18.1)

HBiR, XEFERSHEERETI— N SIAMIEEEIN .

Incorrect. This is one of the SIAM considerations for the continual service improvement
process.

EXIN Z 1 #% EXIN SIAM™ Foundation (SIAMF.CH) 47

SIAM™

&



=%IN

28/ 40
TR RIRS RAMUBHRRZE,

BRI E R ERI BRI A

Tom is the problem manager in a service provider.

What is the purpose of Tom's problem management process?

A)

B)

0

D)

A)

B)

9]

D)

TS RSIREE Z BB R EEFIRRIR S

Coordinating problem investigation and resolution activities across multiple service providers
BT H RS DRRER

Getting all parties to take part in joint working to resolve problems

Pt AN AL ESRE

Preventing incidents and problems from occurring or recurring

RN R EERIE TR IREIRS

Restoring service in an agreed timescale dictated by priority

HiR, XEDAEERENEESZ—, MIFE. B, XERSEMBISRE.

Incorrect. This is one of the considerations of the problem management process and not the
purpose. In addition, this a responsibility of the service integrator.

HiR, XEDAEERENEESZ—, MIFE, B, XERSEMBISRE.

Incorrect. This is one of the considerations of the problem management process and not the
purpose. In addition, this a responsibility of the service integrator.

IFff., [REEMERSREETRNEREE, RERE X NERSFERIRI. BENRRE. BXi
SRFIESFEFRRRAY R ESERRE.  (OLEk: A, $BI1E)

Correct. The problem management process is responsible for managing the lifecycle of a
problem, which is defined as the unknown underlying cause of an incident. It is also
responsible for preventing incidents and problems from occurring or recurring. (Literature: A,
Chapter B9.1)

iR, XEREEERENBER,

Incorrect. This is a purpose of the incident management process.
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B—NtERIE R BRIRR B RIMFFE R R GRS i

Which process has as its main purpose an early detection and avoidance of system and
service outages?

A) TESKMEMERE

Change and release management
B) IFEARSSEUHIRIE

Continual service improvement
C) ESEHERE

Event management
D) HEEEME

Incident management

A) fEiR. ZTEEEEBEREATRIRSHIER FTIRSHTEE.

Incorrect. Change management enables changes to be made to services with minimal
amounts of disruption.

B) $HiR, FHEERSIUANBNERE—FEN. RIEFMEBRENMMSEFEPIHENRIN—EMESGE,
Incorrect. The purpose of continual service improvement is to provide a consistent method of
quantifying, tracking and managing the delivery of improvement activity across an ecosystem.

C) IFa. XRESEEMENBN. (CL8t: A, 5B6.1E)

Correct. This is a purpose of event management (Literature: A, Chapter B6.1)

D) {#HiR. HEEEHEIRERS, BERCRMNEERSO@M, BrOAET TR HHT.

Incorrect. Incident management seeks to restore service. It also records and manages service
issues. Incident management does not aim at prevention of outages.
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SIAMES RS A MEIT S BRISIAMERZTA?

Which SIAM consideration is common for all processes in a SIAM ecosystem?

A)

B)

9)

D)

A)

B)

9]

D)

RS IRABFIIRSS IH & Z A P BRI X R

Building and maintaining strong relationships between service providers and the consumers
of their services

HEREAIRTEIN. [BJEFIERERHRA]

Defining ownership of the processes and the levels of accountability and responsibility
RE—FE. REENEEHENZMI—EMGE

Providing a consistent method of quantifying, tracking and managing the delivery of
improvement activities

RA—MEZN, B EERFRESREK RS ERISEITTE

Providing a structured approach that delivers projects on time, on budget and at the
appropriate level of quality

IR, XRWSXAEEMENEN, MARSIAMESREFERELRNEEEE,
Incorrect. This is the purpose of the business relationship management process and not a
consideration common for all processes in a SIAM ecosystem.

IEffs, XESIAMESRESHEMEENEBRIERRERZE. (008t A, 5B3E)

Correct. This is a correct consideration common for all processes in a SIAM ecosystem.
(Literature: A, Chapter B3)

BIR, XEREURSHHMENEN, MARSIAMAESRAFAERENHRERELR.
Incorrect. This is the purpose of the continual service improvement process and not a
consideration common for all processes in a SIAM ecosystem.

IR, XENEEERENEN, MARSIAMESRAFEMENHEEREE,

Incorrect. This is the purpose of the project management process and not a consideration
common for all processes in a SIAM ecosystem.
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WSS AR SIAMPERCBIR A A7

Which is a SIAM consideration of the monitoring and measuring process?

A)

B)

9]

A)

B)

0

N—EHEIET . #IERE, KB, BEEIRSHERIERX
Requirements for consistent data dictionary, data models, terminology, thresholds and
reporting schedules

N R EMHARIRSS fR M AIARSS S pkAYR{E
Responsibilities for testing integration between services from different service providers
should be defined

ERZHIRRTT R BN EAR RS IR Z [ARF—E

Targets for event diagnosis and resolution should be common across service providers

I, XREUSTHNRENSIAMIEESI 2—., (3@t A, $B5.28)
Correct. This is one of the SIAM considerations of the monitoring and measuring process.
(Literature: A, Chapter B5.2)

iR, XERMEEREN—SIAMIEESEI

Incorrect. This is a SIAM consideration of the release management process.
IR, XEESEERMETHN—SIAMIEESEIR .,

Incorrect. This is a SIAM consideration of the event management process.

32/40
A RMIEEE T — N SIAMIEESI?

Which is a SIAM consideration for the incident management process?

A)
B)
9]

D)

A)
B)
0

D)

E X ETESEEEERTHN

Defining rules for managing event thresholds

HBRFTBE RS RUBEEENE SRS

Ensuring all service providers are able to monitor their services
EIRIEAEIRE AT BEPR(RARSS MERENES

Managing events that are degrading or could degrade service performance
ERARRERMDRERSATE RS HE

Minimizing the number of parties involved in restoring a service

iR, XESTEEN—SIAMIEEEIL,

Incorrect. This is a SIAM consideration of event management.

iR, XEEUSITHRERN—SIAMIEEEL,

Incorrect. This is a SIAM consideration of the monitoring and measuring process.

HiR, XRESEEREN—SIAMEREIL.

Incorrect. This is a SIAM consideration of the event management process.

B, IXEHFEEIEREN—SIAMGEEED. (ot A, $B8.2E)

Correct. This is a SIAM consideration of the incident management process. (Literature: A,
Chapter B8.2)
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SIAMES & E B ZEHIEECIER S A R EHA?

Which is the earliest stage of the SIAM roadmap to be affected by the challenge of building
the business case?

A)

B)

9)

D)

A)

B)

9]

D)

RERSAIEIER
Discovery & Strategy
SEhERTER

Implement

MK SHIRERER

Plan & Build
BITSHUHMER

Run & Improve

IEff, XPBURZEMNSIAMBRZEIRIRHBIRZR SR ERTTIRRT,  (OZBk: A, 58.1.28)

Correct. This challenge starts early in the SIAM roadmap, during the Discovery & Strategy
stage. (Literature: A, Chapter 8.1.2)

HEiR. BAICIEISESE. ISTAISUHMERGER, LOERREAESCIHRSE, (EXAEREMIM
7A%

Xo

Incorrect. The business case will also be used during the Implement and Run & Improve
stages to verify that the anticipated benefits are being realized, but this is not the earliest
stage.

iR, I SHEEMRERE, SEEEERNRBEAARRNROERR, BEXAEHRM
L

Xo

Incorrect. At the end of the Plan & Build stage, executive backing is required to authorize any
procurements and allocate resources to the remaining stages, but this is not the earliest stage.
HiR. BAICIEISESE. IETAISUHMRGER, LOEREAESCIERSE, (EXAEREMIM
L

Xo

Incorrect. The business case will also be used during the Implement and Run & Improve
stages to verify that the anticipated benefits are being realized, but this is not the earliest
stage.
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BNSIAMEIR B Z 2 EESIAMBINIX Tk AR/ ?

Which SIAM layer is not affected by the challenge of measuring success of SIAM?

A)

B)

9]

A)

B)

9]

EREN
Customer organization
RSB

Service integrator

ARSI

Service provider

HiR, B ZEIX—HERISE,

Incorrect. The customer is affected by this challenge.

iR, IRSERBZENZILERAIRIN.

Incorrect. The service integrator is affected by this challenge.

IEff, MNRTEESIAMERRHNMELURRSZEREEARET, WX—HiEmE LR RsigE
IR SAIIRSSEEAE. (O A, 588.6.1F)

Correct. This challenge will affect the customer if it is unable to validate whether SIAM is
delivering value and services are performing, and the service integrator that has the task of
building the end to end reports. (Literature: A, Chapter 8.6.1)
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REFPRL— MRS REERE T AITFRAYIRS KA.

S EEERRNXERTA?
A customer organization sets unrealistic service levels for one of their service providers.

Which risk is directly related to this?

A) TIREMELANIRSS HES BosiE.
It could be difficult to allocate responsibility for service failures.
B) EFHIEUIEAIREFEMXPL,
The customer’s data may be at risk.
C) IRSBEMEIRELIEETHIRS.
The service integrator may not be able to fulfill their role.
D) IRSBHRMAEIRIBHESESR,
The service provider may withdraw from the ecosystem.

A) BiR. XER—MEXEE,
Incorrect. This is a different commercial risk.

B) iR, XESEHEMEREXIIXEL,
Incorrect. This is a risk associated with level of control and ownership.

C) iR, XRSXUREEFXRAINE.
Incorrect. This is a risk associated with cultural fit.

D) IEffs, MRSIEHBNEFIRSRIINIELNR, TESHEBRHESRSR. (O A, $8.335)
Correct. Unrealistic targets and service levels for service providers may result in their
withdrawing from the ecosystem. (Literature: A, Chapter 8.3.3)
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BERPRLTERGFEIERNRERIRSS, NMAEEESIAMES RS H L BHEABEE.

S EFBEXHIXEREMA?

A customer organization is unable to map dataflows and the end-to-end service leaving
them unable to understand the scope for security in their SIAM ecosystem.

Which risk is directly related to this?

A) BRSREERILEMNTHRRETE.

Service providers may have access to data to which they are not entitled.
B) RRSSHRMLFE A RETIALIMNERRSS BiF.

Service providers might not achieve their service targets.
C) LHESIAMAIRARTRES Titkl.

The cost of implementing SIAM could be higher than planned.
D) RRBEMEIRERIEINTIEE.

The service integrator might have an increased workload.

A) IFffy. BEPARFEFBESRETEMLEIENER. LT ALLIRMEFHITEEMRP. T

ErE, THRRMRSZEHBANEDN. RSRUEBIOEREEIERBAXONGE, O A,
%8.4.35)
Correct. The customer organization needs to be clear about what data and information exists
in the ecosystem, where it is, and how it will be managed and secured. Ineffective data
segregation, particularly in relation to a service provider's commercially sensitive data that
should not be visible to other service providers, is an associated risk. (Literature: A, Chapter
8.4.3)

B) iR, XESEUBEERAIXEL,
Incorrect. This is a risk associated with commercial challenges.

C) HiR. XRSWEEIACIEEXAIXE,
Incorrect. This is a risk associated with building the business case.

D) iR, XESEEARIEXAIXEG,
Incorrect. This is a risk associated with legacy contracts.
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FESIAMES RS H, RSEHBETEENHITIESLI.

BRI UERRERTA?

In a SIAM ecosystem, service providers need to adapt to a new way of working.

Which is an associated cultural consideration?

A)

B)

9]

A)

B)

9]

ARG RHBE—NEESRFMYATERME

Creating an environment for service providers that is focused on contracts and agreements
RS IREERARSENBESIES. RRMAENBEN

Service providers acknowledging that the service integrator has the autonomy to direct, make
decisions and govern

RS IRMAE T T LI 18 S ERIIRS /KA BN

Service providers focusing on the achievement of their own specific service levels and
objectives

Hix. BXNERESERE: IEETTWSHRNER. MIFR MRS RARSEMIMYAIR
=,

Incorrect. The associated correct consideration is creating an environment that is focused on
business outcomes and the customer, not individual service provider’s contracts and
agreements.

IEf. IRSSIEHELIUVERANRSERBRRNREF, BEEERIHERRUNEENBEN, FHX
MBEENAZEHIRE. (O A, $7.21F)

Correct. Service providers must acknowledge that the service integrator is the voice of the
customer and has the autonomy to direct and make decisions and govern without being
undermined. (Literature: A, Chapter 7.2.1)

Hix. ESIAMESRES, ERXKIRR (FBIRHNEZENXER) | aEEHLREXRIERR
r, ARSI BIELR RS KRB iR,

Incorrect. Within a SIAM ecosystem, the focus is on relationships, particularly cross-provider
relationships, governance controls, and pursuit of common goals rather than achievement of
specific individual organizational service levels and objectives.
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HEE P AR RERIESISFIFERUKFE2REER.

MRRHBESBHANK?

Defining the level of control and ownership to be retained by a customer organization is
important.

Which is a risk of leaving this undecided?

A)

B)

9]

D)

A)

B)

9]

D)

D ECARS BRI R — Tk,

It will be challenging to assign responsibility for service failures.
RS IRIETRENEEEE,

Service providers may be unwilling to collaborate.

ARG SRR REIEBITHER S,

The service integrator may be unable to perform its role.
SIAMITXIRIPLIITTEE £,

The success of the SIAM program cannot be measured.

iR, XEFREBUHEEIXEE,

Incorrect. This is a risk from the commercial challenge.

iR, XEMWEIFRIBb S HRAIXBL,

Incorrect. This is a risk from the challenge of culture and collaboration.

IEf, WNRZRBEEIRR, EAREIREEANEE, SFEESIAMIRIIRIE X AR IRSS SRR
MRS REENAEERKMY. WREFANESHGIRS ENTIRENTEN, RSEMETIETE
[BITHERS, SIAMASTRHERW SN BT REFTIASEI. WIREF G ABRESIFISRE, BBARSEREY
BB RBEIKESERIIEBTHRIRR. Ok A, $8.2.18)

Correct. If this challenge is not resolved, it can make the definition of the SIAM model, and the
role of the service integrator and the service providers, more challenging because
responsibilities and accountabilities are unclear. If the customer is not prepared to relinquish
ownership of service activities and processes, it may not be possible to realize the anticipated
benefits from SIAM, as the service integrator may be unable to perform its role. If the
customer relinquishes all control and accountability, the service integrator might not have
enough strategic direction to allow it to carry out its role. (Literature: A, Chapter 8.2.1)

iR, XEMEEISIEEIGRIXE.

Incorrect. This is a risk from the challenge of building the business case.
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ITILFFE SSIAMZ BB HAXE?

How are ITIL processes and SIAM related?

A) [TILFRRERAFETFSIAMGEER, FHERTHMMR,

B)

9]

ITIL process outcomes are different from SIAM process outcomes and provide other insights.
ITILTARTCHRIE MBI FHFSIAMES R A,
ITIL processes can be used in a SIAM ecosystem without any adaptation.

SIAMEZESZEITILRIRS B TTRZ EHXNERIT T &,
SIAM builds on the ITIL's service management elements and extends them.

D) SIAMREITILASEN M, EAMEREETRIE.

SIAM is a replacement for ITIL and therefore does not use any of its processes.

A) IR, RSHSIAMESITILRZEEBHEENER.

Incorrect. Most SIAM processes have the same outcomes as ITIL.

B) &R, MiEREREIENSHNEESRER.

9]

Incorrect. Processes will require adaptation to suit the multiple supplier ecosystem.

IEffs, SIAMASERITIL, BEZEITILIRSEETRVEMZ b, FEET REISSIAMRELEXAT
BAYMESRFEHR., (@ A, $41.1.18)

Correct. SIAM does not replace ITIL, but it builds on its service management elements and
extends them across the ecosystem where they are relevant to the SIAM model. (Literature: A,
Chapter 4.1.1.1)

D) 2. SIAMARLEAITIL, TLUTILAERY,

Incorrect. SIAM is not a replacement for ITIL and uses ITIL as a foundation.
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IR —FPSE RIS TRl —FIMERIEE = RIS ?

Which practice focuses on creating a collaborative culture and sharing?

A)

B)

9]

D)

A)

B)

9]

D)

DevOps
DevOps

ISO/IEC 20000
ISO/IEC 20000

ITIL
ITIL

Lean

IEffe, BUIEMMESXICEDevOpsi— X E. (SEk: A, 54.4.15)

Correct. Creating a collaborative culture is a key feature of DevOps. (Literature: A, Chapter
44.7)

Hix. |SO/IECRITIRSEERINE, BRIERNZ8IEMENIL,

Incorrect. ISO/IEC is a standard for IT service management. Its focus is not on creating a
collaborative culture.

Hix. ITILEZMETRE, MAZEIEIMEIL,

Incorrect. ITIL focusses primarly on processes, not on creating a collaborative culture.
iR, BoETREAUITERRE, MAREIIMMEX =S,

Incorrect. Lean focusses on process optimization and removal of waste, not on creating a
collaborative culture and sharing.
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MTRBAREFBERER, HEEERA.

A% =f 3 [0 =F 3
1 B 21 A
2 B 22 C
3 A 23 A
4 C 24 D
5 B&C 25 D
6 A 26 B
7 A 27 C
8 A 28 C
9 A 29 C
10 C 30 B
11 A&C 31 A
12 C 32 D
13 C 33 A
14 A&B 34 C
15 C 35 D
16 A 36 A
17 A 37 B
18 D 38 C
19 A 39 C
20 A 40 A
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